EERREMGFHRE=2) VBT CEREE17EDHZER
(5F5E7H138~9A827BEM)

RF A KE B3 AR (EHRVE)
BERKEARAR (RFHYD

ZRIRERAEE(L Sv/h)
5 = KE-BHES
No. | TiETH R4 SHE R BZ | mems EM dhiia (2 4BOTHIB) i
5[ %16ME 5[ %16ME 5[ %16ME
PERR | AERE | AELE | AEHE | AERE | AErE
_ 50cm 0.06 0.07 0.06 0.06 0.06 0.06
1259 | #rihEr *REEH B/ BmRER 8A2H
1m 0.06 0.07 0.06 0.07 0.05 0.06
_ 50cm 0.06 0.06 0.06 0.06 0.06 0.05
1260 | FrihAT *REEH R E 8A2H
1m 0.05 0.06 0.05 0.06 0.05 0.05
_ _ 50cm 0.06 0.05 0.06 0.05 0.06 0.05
1261 |  HrihEr *REER REAREM 8A1H
1m 0.05 0.05 0.05 0.05 0.05 0.04
50cm 0.08 0.07 0.08 0.07 0.06 0.05
1262 | FrihET INERR Frith BT 31 B4 8/ VAR 8A2H
1m 0.07 0.08 0.07 0.07 0.05 0.05
50cm 0.05 0.06 0.09 0.08 0.06 0.05
1263 | FrihHET INEEAR Frith BT 3L FTHh /N EAR 8H1H
1m 0.05 0.06 0.08 0.09 0.05 0.06
_ 50cm 0.06 0.06 0.06 0.07 0.05 0.05
1264 | FrihET INERR H BT SLAE H /N ERR 8A1H
1m 0.06 0.06 0.06 0.07 0.05 0.05
50cm 0.09 0.07 0.09 0.08 0.06 0.06
1265 | FrHbHET 2R b BT 3T 18] 3 AR 8H28
1m 0.08 0.07 0.08 0.08 0.06 0.06
N 50cm 0.08 0.08 0.06 )
1266 | T BEER HERESRITRE 9A25H FE16EIFAEX RS
1m 0.08 0.08 0.06
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